+ -
xl- ~ —

% , o . R F kR
BN ML o A ppm | mg/m’
1 | pz CH5CHO 100{180

2 | pk CH;COOH 10|25

3 |© Fap™ (CH;C0)-0 521

4 |5 (CHy):C0 750[1, 780
5 |z % CH5CN 40(6'7

6 |migitz 2(1,1,2,2—w 82 %) |CHBryCHBr, 1{14

7 |5 sm CH,=CHCHO 0.1]0. 23
8 | M fiet= CH,=CHCONHS, 0.03
9 |5 CH,=CHCOOH 1030
10 |7 % s CH,=CHCH,0H 24,8
11|57 4% CH,=CHCH.C1 13

12 |7 % f k4w pe H,C=CHCH,OCH,CHCH,0 523

13 |2 — Paert ez CsH4NNH; 0.5/1.9
14 |% NH; 50(35

15 [# i“ 4% (*&°%) NH,C1 10

16 [z pe N fq CH5CO0CsHy, 100(532
17 |2 o % = g CH;COOCH(CHs) (CH,)2CHj 125|665
18 | ¥ %= CeHsNH, 2|7.6
19 |7 % ¥ (38> 8 ’f?—*” CH30CgH,NH; 0.1]0.5
20 |45 2 H v &4 (08h3) Sb 0.5
21 [ X (a — & /oK) C1oH;NHCSNH;, 0.3
92 |4 g i £ 3 () As 0.5
23 |B it g AsH; 0.05/0. 16
24 | B & CyoH12N303PS, 0.2
20 |42 % H ¥ i & (10 483h) Ba 0.5
26 |16 § ¥ (Cel1,C0)50, 5

27 |& v 7 A ¥ CeH5CH.C1 15.2
28 B ¥ CeH5CeH5 0.2/1.3
29 [= 80 BBr; 1{10

30 |= & i+ BF; 112.8
31 |5 Br, 0. 1{0. 66
32 |7 & 1+ 5 BrF; 0.1]0.72
33 |= %7 = CHBr3 0.5(5. 2
34 |7 = CH;CH,CH,CH; 800(1, 900
35 |1—7 Fip% C4HoSH 0.5[1.8




36 [1—7 f% CHs(CHy)30H 100{303
37 12— f% CH;CHOHCH,CH, 150(454
38 |z B~ fig CHsCO0C,Hy 150|712
39 |z pa® = 7 Py CH;COOCH(CH;) (CoHs) 200|950
40 [z pa % = 7 Py CH;CO0C(CH3)3 200(950
41 |% = 7 p% (CHs)sCOH 100{303
42 |7 e C4HoNH, 515
43 | 7 A5 k4 b pL CH;(CH;)350CH.CHCH,0 25133
44 |5 pa 7 Py CH;CHOHCOOC,H,q 530

45 [ — % = 7 s CHsCH,CH(CHs)CsH40H 531

46 [ —% =7 A7 F (CH3)3CCeH4CH; 1061

AT | P BL 4T Cas(AsO);

A8 | § it 4T CaNCN 0.5
49 |3 5 i* 48 Ca(OH), 5

50 |F i 4F Ca0 5

51 | & = % CioH;60 2|12

52 & P Feie(Hs A) CH,(CH,),NHCO 1

53 | P FEte(FE # ) CH,(CH,) ,NHCO 523

54 |4v -4 C1oH-00CNHCH; 5

5o |*v -k Cy2H;15NO5 0.1
56 |#t 2. C 3.5
57 |= % i mit CO, 5, 000]9, 000
58 |= Ar it CS, 10(31

59 |- ¥ L CO 35(40

60 |4 ¥ it 44 CsOH 2

61 |& * CioHsClg 0.5
62 |% i*% - F CioHyC140 0.5
63 | & Cly 0.5[1.5
64 |- % * % Cl10, 0. 1/0. 28
60 = & ©* & CIF, 0.1]0. 38
66 |- % ¢ fiz C1CH,CHO 1)3. 2
67 |la—F&¢m (00— F %2 fk) CeHsCOCH,C1 0. 05{0. 32
68 | % ¢ fed CH,C1COCI 0. 05{0. 23
69 | ¥ CeHsC1 75(345
70 [i5-% 7 = BrCH,Cl1 200(1, 060
12—% —1,3—" =% H,C=CCLCH=CH, 10(36

T2 1% = & 7 % CHCIF, 1, 0003, 540
T3 |% ¢ '= CH;CH,C1 1,000(2, 640
T4 12— % ¢ f% C1CH,CH,0H 1/3.3




5 |- &% 7 B C1CH,0CH,Cl 0.001]0. 0047
T6[1—1—1—mAp = CsHgCINO, 2|10
T4 14¢c'= CC1F,CF; 1, 000(6, 320
8% it (Z2/7 %) CC15NO, 0. 1]0. 67
19 [ —% F ¢ % C1CsH,CH=CH, 50[283
80 M8 —% " F C1CeH,CHs 50[259
81 |42 &% (g3t Cr |

82 |- Wit gy (g Cr 0.5
83 |= M4t £ (U43H) Cr 0.5
84 |4 £ b g 3 4T 0.2
85 450 EBEE 2 B A (U4 Co/Co0/C0302/C0o20,4 0.05
86 | &k ikt h 0.15
87 |8 > BT Cu/Cuz0/Cu0 0.2
88 |4 - b e BiF (1aF3) CuS0,. 5H,0/CuCl 1

89 |4 & 0.2
90 |= = fF CH;CH=CHCHO 215. 7
91 |2 p ¥ Cell;CH(CHs) 50246
92 |7 g (548573 BHEYF) CHsCoH,OH 5(22
93 |5 "= (§ 4% ) HoNCN 2

94 | ¥ (4§ 193H) CN” 5

95 | Bk e % CgH,,NH, 1041

96 |F& e = CeH,2 300(1, 030
97 | %= p% CeH,;,OH 50[{206
98 |%& = fr CsH,0CO 25100
99 [1,3—F& ~ = %% CsHe 75203
100 |7 ~ = CsHio 600(1, 720
101(2,4—3 (2,4—=- % % ¢ k) C1,CeH50CH,COOH 10
102+ = BioHi4 0. 05]0. 25
103]= B > Csll1905PS; 0.01]0. 11
104| = p fr % (CH;)2C(OH)CH,COCH; 50[238
105] = 4> [ (CH3)9CHC4NoH(CH3)O JPS(OCoHs) 0.01
106|£ % 7 = CHaNo 0. 2[0. 34
107]= m2l= BoHg 0.1]0. 11
108 |pipa = 7 fig (C4H40),POOH 1/8.6
109[#8%F = " o= ~ fig CgH,(COOC4Hyg )2 B
110 & ¢ % CoCly 0.10. 39
111 ;;rg_; %‘%’ J?F C6H4C12 50(301
112/ —=- % F Cell,C15 715|450
113|= # = & 7 = CCl4F, 1, 000(4, 950




114]1,3— = % —5,5—= 7 o p ek |GHCLN0 0.2
1151, 1— = % ¢ % CH,CHC1, 100/405
116]1,2— = & = % CICH=CHCI 200/793
117|- & @ @ (CICH,CH,).0 5/29
18- 447 = CHCL.F 10/42
1191, 1— - § —1—# e = H,CC(C1):NO, 212
120]1,2—- 3 % CH,CHC1CH,C1 75/347
1211,3— - & 3 % CHC1CHCH,CI 114.5
12202, 0— - s g e CH;CC1,CO0H 15. 8
123t —w & - 525 CCIF.CC/F, 1,000[6, 990
124] g5 4> (CH;0):P(0)0C(CH;)=CHC(OIN(CH; ), 0. 25
125 A = % Cuofliz 527
126]- ¢ o (HOCH,CH,),NH 313
127] - o = (Coll):NH 10(30
128[2-- 2 i @ (CoH5):NCH.CH,0H 10/48
199]- %o =% NH,C,H,NHC,H, NI, 14. 2
130 @ C,H:COC,H; 200/705
131 #5% = 7 f- 2 g Colli(COLColly)s 5
132 - & 7 % CF.Br, 100858
133|455k 4 i p OCH,CHCH,0CH,CHCH,0 0.1]0. 53
134)= £ - (CaHo)5C0 25/145
135|= B @ [ (CHy)sCHIoNH 5121
136N, N— = 7 sho iz CH,CON(CH,), 10/36
137|= @ »e (CH:):NH 10[18
138N, N— = » s ¥ Col;N(CHy), 525
139 & g (CHz),PO,CH=CC1, 0.1]1
140N, N— = » 37 fgre HCON(CH,); 10(30
141|855 = 9 fi- 7 fiy CsHL,(COOCHs); 5
142]mpe - v py (CH3)3504 0.1]0. 52
143 - A B ¥ (5 B H4) Coll(NO, ), 0. 151
144] = A — A — 7 f CH,CsH,(NO, )01 0.2
145 = A fh7 ¥ CollsCH;(NO,), 1.5
14685 — ¥ = " g % i Colli(COOCsH,7)s 5
1471,4— - § 1R (CHD10, 25/90
148] % 4> C4H505[ SPSCOCH, ), ], 0.2
149| = ¥ = (Coll;) NI 10
150|= f = ik pe CH;0C5H;0C5H,0H 100/606
151 @ s (CHCH,CH, )2CO 50233
152| - #igs (C:H:0):P(S)SCH:CH,SCH,CH; 0.1




153|- ¢ % ¥ Coll(CHCH,), 10/53
154 w4 CollsC1405S 0.1
155(- 4> CollsP(CoH1:0) (S)OCH,NO, 0.5
156/%% & 5% OCH.CHCH:C1 27.6
15701, 2 %5 5% OCH,CHCH; 20|48
158(2,3— % § (3 i CH,0HCHCH,0 25|76
159|c pg e NH,CH,CH,0H 317.5
1608 #4> [ (C.H:0)5P(S)S ].CH 0. 4
161]c »= CoHNI, 10/18
162|2 Bt 2 fiy CHaCO0C,H; 400|1, 440
1637 4 ft 2 7 CH,=CHCOOC,H; 25(102
164| CH;0H 1,000[1, 880
165/2 ~ fr CH:CH,CH( CH;)CH,COCH,CH; 25/131
166 )i CoHsBr 200|892
167|2 = fr CHs( CHy)sCOCHCH; 50234
168|2 it (CaHy)50 400|1, 210
169[e = 3 (¥ o = w) NH,CH,CHNH, 10[25
170 ihe %2 CHBr, 20/154
171|2 = i (HiF) CH,OHCH,OH 10
172]2 = wm(EF) CH.OHCH,OH 50127
173|% 2 7% H,CNHCH, 0.5/0. 88
174|2 = s pe CH,0HCH,0C 25121
175]e - e pe CHOHCH0C,H; 5/18
176|2 = m o mepe g C.H;0CH,CH,COOCH; 5/27
177]2 - o pe CHOHCHOCH; 5/16
178|2 = % ¥ ips iy CHCOOCH,CH,0CH; 5/24
179|% 5 & = CH,0 /1.8
180|" pz e iy HCOOC,H; 100/303
181 72p% CoH;SH 10[25
182N—2 A —1,4—5 § £ @ CH,CH,0CH,CHNCH,CH, 5/24
183|% 2 42 (CH;0):P(S)0CHC1 5 10
184|454 & & 1
185]& 1+ 4 (1 & ) F 2.5
1864 F, /1.6
187)& = & 7 = CCLsF 1,000[5, 620
1887 fpvz HCONH, 2037
189" Az HCOOH 519. 4
190 [r2 w8 © fi C,H;0CHO 217.9
191 [r2 v @ C.H;0CH0H 10[40




19257 74 300890
193|w & i 4 Gell, 0.2/0. 63
194|~ = mE OHC(CHy)sCHO 0. 2/0. 82
195|245 10
196 |42 i 0.5
197| % & & CollCly 0.5
198] A& %= CHy(CH, )sCH; 400|1, 640
199]= & = = % C1,00C1CC1CC1, 0.02[0. 21
200|= & T~ - % C:Cl 0.01/0. 11
201|= & & = C1,CCCL, 109.7
202|= & % CollClg 0.2
203|= i 7 CF,COCF, 0.10. 68
204|- B ke OCN(CHy)eNCO 0. 0050. 034
205| = = CHy(CH, )CH, 50/176
206|2 & 4 4 Collis 500/1, 760
207|2 F ¥ - = iy CHCO0CsH,5 50/295
208[2— 7 & —2,4—~ - 7 (CHy),COHCH, CHOHCH, 25(121
209[;4. 1 & HBr 319. 9
2104 i & HC1 5/7. 5
211w v NH,NH, 0.1/0.13
212§ i & HCN 10[11
213|4 ™ & HF 312. 6
214|6% 1+ & 1,0, 1|1.4
215k i+ & i,Se 0. 050. 16
216|7 1 & 1S 10[14
217| 4 m Coll, (O, 9
218|4Fp 1t & 3 (11 4FEH) In 0.1
219/ I 0.1/1
220|7 48 (1 4H3) Fe(C0); 0.10. 23
221|% i 4 (8°T) Fe0, Fe:0, 10
992|2 Fr B ~ i CHsC00(CH,);CH(CHs), 100/532
2232 s (CHy)-CHCH.CH,OH 100(361
924|2 Fz B 7 iy CHCOOCH,CH, (CH), 150|713
2252 ~ % (CHs);CHCH,0H 50(152
226/ = mi C.H,5CH,OH 50(266
227| & b Coll1,0 5/28
298| B LB & CioH15(NCO), 0. 0050. 045
229(2— B § A (CH,),CHOCH, CH.OH 25/106
230|c LB [ fig CH:COOCH(CHs), 250|1, 040




2313 p = (CH;)-CHNH, 5(12
232| % P pF (CH;),CHOH 400(983
233|B ¢ F= CeHsNHCH(CHs), 2|11
234| & [ pe (CH3),CHOCH(CH3); 250]1, 040
2358 p A &5k H e CH(CH;)20CH,CHCH,0 50(238
236|2 % H,C=C=0 0. 5/0. 86
237 |# Be 4 Pb3(As04)- 0.15
238 |4e pady (11453) PbCr0, 0.05
239\ i 0.2
2407 i* 7% % LPG CnHyni(n=2~4) 1, 000{1, 800
241|& - 42 LiH 0.025
242|% -4 (CR%) Mg0 10
2435 £ C1oH1906PS, 10
24478 — 7 i = fF (CHC0)50 0. 25]1

245 4% o BT (11 4g) Mn 1
246|482 H m i & 5 (114E) Mn 5}

247 |88 = 22 A AN B4R (11 4E3) CsHMn(CO)3 0.1
248\ £ P AP R (CH;)2C=CHCOCH, 1560
2497 A B Fpk CH,=C(CH;)COOH 20(70
25014—" 5 ¥ @ CH;0CqH,0H 5

251 fa ¥ fin CHsCOOCHS; 200(606
252|p & CH;C=CH 1,000{1, 640
253|0 FEL P fn CH,=CHCOOCHS; 10/35
254|7 A @ %% O CHy=C(CH;)CN 112. 7
205|= 7 § ¥ % CH;0CH,0CHS; 1,000(3, 110
2567 f% CH;0H 200|262
297| 7 i CH;3NH, 10]13
2587 it AR CHs(CH;)4COCH; 50(233
209|N— 7 F iz CeH;NHCH; 0.5]2.2
260787 = CH;Br 519
261|9 A~ AR CH5COC,Hy 520
262(% 7 = CHyCl1 50(103
263[2—F A " fy CHy,=C(CN)COOCH; 2(9. 1
2647 HKike iz CHsCeHy 40011, 610
2657 ATk % CH;CeH, OH 50|234
2667 A%k fp CH;C5HyCO 50(229
267(7 ATk A - 0 = R AR (AR CH;CsHMn(CO)s 0.2
268(3,3 -= & 4,4 =i F 4" % |CiHipCloN, 0.02]0. 218
269|14,4-- R Fpa- F 7 = OCNCgH,CH2CgH,NCO 0.02/0. 2




270|= it CHsCOCHs 200|590
271§ 1+ 7 B Callis0s 0.2/1.5
272|7 F2 ¥ fiy HCOOCH; 100[246
973| " s ne CH,NHNH, 0. 2/0. 38
274 |e 7 CHs] 212
2757 A B ~ CHACOCH,CH(CH,), 50[234
276/4— " A —2— A (CHs),CHCH,CH(CH;)OH 25/104
2777 A3 - CH,COCH(CHs), 50/205
278/ % § A" fiy CH;NCO 0. 02/0. 05
2797 A 3 [ B CHsCOCH(CHs), 200|705
280| 7 7ifi% H;CSH 10/20
281|7 7 %Ak A C3H:C00CH; 100/410
282]7 = (CH:0):P(S)0CGHNO, 0.2
283|" [ i CH;(CH,),COCH; 200|705
284[7 # % = 7 A (CHy)5COCH;3 40|144
2857 A E e % CellsC(CHy)=CH, 50(242
286|2 + 7 3
287|140 > A LIt &4 (1dazt) Mo 5
288 |55 vif C.HsONH 20|71
289 7 i # (2 %) CoHs~Celyg 100(400
290|% Coofls 10/52
201)48 - vip it & (1 483) Ni 0.1
292|m 3 i 4 Ni(C0), 0.001/0. 007
203354k (1 & - C,HNCHNCH; 0.5
294 5 it INO, 2/5. 2
295/~ § 1 § NO 25|31
206 |44 & ¥z NOLCoH NI, 3
207 |F 3 ¥ CoHlsNO, 15
208|4 — A A K ¥ CH.CL(NO,) 1
209 |5 & =2 CH;CHoNO, 100[307
300(= § * § NO, & N, 5/9
301|= & i & NF; 10[29
302 |5 1+ 4 Cal5(ONO,)s 0.2/2
3037 e = (CH,0NO,), 0. 02[0. 12
304 5 7 CH:NO, 100/250
305|143 + CH:CH.CH:NO, 25|91
306|2- 5 4 CHACHNO.CH; 10/36
307|s g7 ¥ NOCoH,CH; 211
308|- § it - § N0 50/90




3092 =(z £ #H) CoHyp 200(1, 050
310|~ & 2 CyoClg 0.1
11 |# = CsHis 300(1, 400
312038 % (1L 5
313|w § it 4k (114k3H) 0s0; 0.0002{0. 0016
314|% p& (COOH)s. 2H,0 1

315|% it 3 OF, 0. 05]0. 11
316|5 % 05 0.1]0.2
SIT| 7 M > F'T 2
318|% £ Ci2H1aNoCly or CioHiaNo(CH3SO,); 0.1
319(% =~ (CoH50),PSOCH,NO, 0.1
320|1 A2z BsHy 0.005/0.013
3217 % 2 CyoHsCl5 0.5
32217 a2 H4p B CeC1s0H 0.5
323| % CH3(CH,)3CHs 600(1, 770
324|:8 & 7 AFipE CISCCI, 0.1]0. 76
325|:F & fk 3 CIFO; 3|13
326 |p~ Cells0H 519
327~ % v% Ci2HgNS )

328 |¥—F - = CgHy(NH5)o 0.1
29| FE > & F (CeH5):20 1|7

330 F A &g k4 i gL CeHs0CH,CHCH;0 116.1
331|F £ CeH;NHNH, 0|22
332|F & p% CeHsSH 0.5]2.3
333 | F % CeH5PH, 0. 05]0. 23
334 |45 34 (CoH50)2P(S)SCHSC,Hs 0.05
335| % = (CH30),P(0)0C(CH;)=CHCOOCH; 0.01/0.092
336|k % COCl, 0.1]0.4
337 |mx 1 & PH; 0.3[0.4
338 |Fk ik H;P0, 1

339 |+ & P 0.1
340(F & & POCl; 0. 1/0. 63
3417 & 1w PCl; 1
342|T Fr it i PySs 1
343|= & i mi PCl; 0.2]1.1
44| F = 7 FF CeHi(CO)50 116.1
345|= ¥ ¥ CeHy(CN), 5

346 |5 vk & CgHo(OH) (NO; )3 0.1
34T|1,4-= § e - B A C4H;oN, - 2HCI B)




348|440 £ B (11 443) Pt 1
349|410 » T HE B (14 4a20) Pt 0. 002
350| 5 & =¥ CiolonCl, (1=n=<10) 0.01
351| CH:CH,CH; 1,000]1, 800
352|7 CHCH,COOH 10/30
353|1 — 7 % CHsCH,CH:0H 200491
354|3 & p e A CH,CO0CsH 200835
355 & 7 3 fin CHNO; 25(107
356|7 - fF - A iy NO:CHCHNO:CH; 0. 050. 34
357|7 - s A CH;OCH,CHOHCH; 100[369
358| 5 4 I v CH,HCNHCH, 214. 7
359|"%% & 3 5
360+ e CoHN 516
361 |2 CoH,0s 0. 1)0. 44
362/F - (S 2) Coll, (O, 10[45
363 &i(z 3 EBEIE R LB L ® len 0.1
P
364|458 (AT B L H Rh 0.01
365 | 4. %k CosHy206 )
366/ it &4 (1aE3) Se 0.2
367|~ 4 it @ SeFs 0. 050. 16
368w & it & Sill, 5/6. 6
369?)’5%‘5F;9p\'b&1b@# (,U.{qug 001
370(dr § i 4 NaN; 0. 11[0. 29
371|%; Fipie & 4 NallSO; 5
372|4 © Fe4 FCH,COONa 0. 05
3734 § i 4 NaOH 9
374|% i 4% S 0. 1)0. 51
375|2% % 46 7 | 100(525
376 § 1 4x S0, 2/5. 2
377\~ 4 i &% SFs 1,000[5, 970
378|- & it &x S.Cl, 115. 5
379 |75 7 S0, 1
380|7 4 i &% SoF 0.01/0. 1
381 | & it £ SF, 0. 1)0. 44
382|4 i FifE SO:F, 521
383 F (% 7 FsA) Mgs[ Si4010](OH), 2
38442 0 £ ZE F BB A Ta 5
38572 H 1 & (UE Te 0.1

10




386/ 1 3 (CoH;0) P05 0. 004[0. 047
387|m = ¥ (Colly)oCoH, 0.53/5
388[1,1,1,2— 2 & —2,2—-&c%  |CCLCCLR, 500]4, 170
389[1,1,2,2— 2 & —1,2— - 4 ¢ %  |CCLFCCL,F 500]4, 170
390[1,1,2,2—= § ¢ = CHC1,CHCL, 1l6. 9
391w & % CuliCl 9
392w & A4 Pb(C,H; )4 0.075
393|w T Ha&n (&) Pb(CH;)4 0.075
394]w & rtem (CH,).0 200590
395|= 9 3t NCC(CHy):C(CHy):CN 0.5)28
396|410 = CONO»)s 1l

397| g i e & Na.P;0: 5

398| ¢ £ HSCH,COOH /3.8
399/ 4 & A S0C1, 1l4.9
200 2 & [ (CH):NCS ]S, 5

A0 |4F % SR m 45 1 & = (11 4F3) Sn 2
4021474 1 & 3 QuaR) Sn 0.1
403]5 7 (ape) Sn 9

404 - § i s Ti0, 10
4058 — v oz CH,CoHNH, 522
406/ — 0 o CH,CoHNH, 2/8. 8
4074 — 0 oz CHCHNHs 2/8. 8
18 ;;;5 FERDFELO7FF oy oveo), 0. 005]0. 036
109] 4 w5 CuolioCl4 0.5
40]pim = - m (C4lly)5PO, 0.2]2.2
M)z 5 e CC1,CO0H 1l6.7
n201,2,4—= 5% Coll,ClL, 5|37
131, 1,1-z 5 ¢ = CH,CCl, 350]1, 910
14)1,1,2—= 5 ¢ = C1,CHCH,C1 1055
M5 & % CublsCl 5
416]1,2,3— =554 C1CH,CHCICH,CI 50(302
M7)1,1,2— =% —1,2,2—= & ¢ = |CCI,FCCIF, 1,000[7, 670
118]= ¢ = (Colly )N 10/41
e CBrF, 1,000(6, 090
420[1, 2, 4— i % = pape CoH05 0. 005]0. 04
491]= v (CHy)oN 10/24
422|= 7 ¥ (CHy)5CoHs 95(123
123\ ahp = v (CH,0)5P 2[10
4242, 4,6— = WA ¥ CHyCoH,(NO, )5 0.5

11




425|= 387 ¥ A Hkps fin CyiHz,0,P 0.1
426|= ¥ A= (CgHs)sN 5
A27 \Rapa = ¥ fig (Cell5)3P04 3
428146 > 2Ep it & F (Uudh3 W 3)
429\45 - 7 £ (453 W 1
430 [+~ & CioHig 100[556
431|4 » ¥ R T £ (At U 0.2
432|485 2R T B (At U 0.2
433 |~ g CHs(CH,)3CHO 50({176
434|7 5 1 = ko B V505 0.5
435|7 3 1t - &g V,05 0.1
436 |5 fx © ' fig CH;COOCH=CHj, 10(35
4375 5 CH,=CHBr 5|22
438|= F i“TRE Yo CH,CHOCgH40 10(57
439]2 H AT F CHy=CHCgH,CH; 100(482
440 | 8 F CioH;604 0.1
441 |4 ¥ 5
442\ 7 F = (CHs)CsH3NH, 210
44342 > £ 2 B g (1de3) Y 1
444\ % - & > (WD) ZnCl, 1
445 |85 padr (M AL PRt ZnCr0;, 0.05
446|F v & (W) Zn0 5
4718 & (0 gg) Ir 5
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